


If the price of pen decreases by
20%, then a man can buy 10
more pens for Rs 100. What Is
the new price (Iin Rs) of each
pen?

1)1 2) 2
3) 4 4) 5
It et hl hma 20% 7 21 STl 2,

al e =i 100 T2 85 10 3R swew
@IS Gohdl 21 I hotd hl -3 hifd
(T o) w7 27

SSC CGL 8 AUG 2017 (Shift 1)




After deducting 60% from a
certain number and then
deducting 15% from the
remainder, then 1428 is left.
What was the initial number?

1) 4200 2) 3962
3) 4150 4) 4300

weh Mg @& g 60% FH FH o 918

AR ITH 15% 3R 9 X fgar S,
ar 1428 99 § 71 81 IRiYe S
T ot?

SSC CGL 8 AUG 2017 (Shift 1)




A person scores 45% of the
total marks in the exam and
still fails by 40 marks. The
passing percentage of the exam
IS 55%. What Is the maximum
marks of the exam?

1) 300 2) 350

3) 400 4) 500

Ueh SFich G H el ieht <1 45%
AT & AR O Wl 58 40 ST € 10
T SITaT & 90T =1 St gfaerd 55% 2
TIETT oh SATIRdH 3k T 87

SSC CGL 8 AUG 2017 (Shift 2)




The number of trees In a town
IS 17640. If the number of
trees increases annually at the
rate of 5%, then how many
trees were there 2 years ago?

1) 14000  2) 15000
3) 16000  4) 19450

TS I | gai o @@ 17640 2 afe
eIt sht e 5% i a1k 5T | Fed]
g, a1 2 99 qgct foha 9e7 97

SSC CGL 8 AUG 2017 (Shift 3)




If A has got 20% more marks
than B, then by what percent

marks of B are less than the
marks of A?

1) 16.66 2) 20
3) 33.33 4) 14.28

afe A=t B st qor v 20% sferes
3o fierd &, af B a6t A qemr |
fora afera i =0 9w B 87
SSC CGL 9 AUG 2017 (Shift 1)




A, B and C are three students.
A got 18% more marks than B
and 12% less than C. If B got
220 marks, then how much
marks C has got?

1) 230 2) 295

3) 240 4) 290
A BasrCdasmd AmiBH

qamT # 18% ik 3feh W B § 3K
C 3 12% =% ik I BId 21 Ife B
& 220 3 fiaetd €, @ C =i forad

ik fict?

SSC CGL 9 AUG 2017 (Shift 2)




Amit donated 20% of his income
to a school and deposited 20% of
the remainder In his bank. If he
IS having Rs 12800 now, then
what Is the income (in Rs) of
Amit?

1) 18000 2) 20000

3) 24000 4) 32000

AT = 1T 31 1 20% fewar w6
T g fohar 3R o 1 3w a1 20% s
foram afe o1er 3@es @ 12800 w3 €,
T a6t I (39 |) F=a1 27

SSC CGL 9 AUG 2017 (Shift 3)




If the price of onion Increases
from Rs 24/kg to Rs 36/kg,
then by what percentage a
household should decrease the
consumption of onion so that
expenditure remains same?

1) 25 2) 33.33

3) 50 4) 20

Ife WIS &t Shima 24 799 9T Tohaaimm
¥ g 36 ¥9¥ yia forum & St 7, ar
ST TITST ohl @O H fohel Sc=rd ol
FHT BT =T, difeh o7 9 ©?
SSC CGL 10 AUG 2017 (Shift 1)




a% of b + b% of a =

1)2a% of b 2) 2a% of 2b
3) 2a% of 2a 4) 2b% of 2b

bsxra% +a=sthb% =

SSC CGL 10 AUG 2017 (Shift 2)



80 litre mixture of milk and
water contains 10% milk. How
much milk (in litres) must be
added to make water percent in
the mixture as 80%7?

1) 8 2) 9

3) 10 4) 12

80 T ger I uret o forsror 4 10% g
gl fereror o fopm gur (e o) fireman

ST aTfek Ta2or 1 9= 80% BT SIT4?
SSC CGL 10 AUG 2017 (Shift 3)




30% of a number exceeds 25%
of the same number by 27.
What is the value of the
number?

1) 540 2) 270
3) 108 4) 90

ok Tt 1 30% 3 @& % 25%
g 27 ik 3 9T T I R=T 27

SSC CGL 11 AUG 2017 (Shift 2)



In an election between two
candidates, the winning
candidate has got 70% of the
votes polled and has won by
15400 votes. What Is the
number of votes polled for
losing candidate?

1) 38500 2) 11550

3) 26950 4) 13550
a1 SFHTGETRT o SiT<l Teh TS |, fersiar

SRt Y 70% A e 3R 15400
Al O ST ISR ST SRR sl IT9
B 9T |l <hY AT T 22

SSC CGL 11 AUG 2017 (Shift 3)




Due to increase of 33.33% iIn the
price of apples, a customer can
purchase 4 apples less for Rs 16.
What is the original price (in
paisa) of an apple?

1) 100 2) 125

3) 150 4) 400/3

ae ohl hma ® 33.33% it afg
IO, Ueh UTesh 16 T3 1 4 99 &
AT 2l T Ul ol 0t shivd (J8 W)
FIT g’

SSC CGL 12AUG 2017 (Shift 1)




Due to increase of k% In the
side, the area of a square
Increases by 69%. What is the
value of k?

1) 30 2) 33
3) 34.5 4) 35

aeh ot ot st ° KO0 o gfg & s,
3k &A% § 69% o afg gt 2 1K
T T &1 87

SSC CGL 12AUG 2017 (Shift 1)




A, B and C are three students.
A got 36% less marks than B
and 16% more marks than C. If
B got 145 marks, then what are

the marks got by C?
1) 120 2) 110
3) 80 4) 75

A B3srCdaas=agl Asi B
qa H 36% dxr e fma s s CH
16% =ftrer 3 e 81 afe B =1
145 i yma gid &, @ C =1 919 39k
w87

SSC CGL 12AUG 2017 (Shift 2)




In an examination 65% students
pass In History and 55% students
pass In Hindi. If 5% students failed
In both the subjects, then what Is
the percentage of students who
have passed In both the subjects?

1) 15 2) 20

3) 25 4) 30

T e ® 65% o1 3iag™ # I)
Bld § 3 55% == &t 1 3ol |id =
afe 5% s I fowat #§ STl 2 R,
ar e fowa 9 Sl ' a1l ST
gfaTd /=T 87

SSC CGL 12AUG 2017 (Shift 3)




If A'Is 6 times more than B,
then by what percentage B
IS less than A?

1) 64.82 2) 83.33

3) 28.56 4) 85.71

aie A, B i qemr | 6 T
At g, dr B, A ¥ fohaq
gfdeTd g 27

SSC CGL 16 AUG 2017 (Shift 1)



After ded
certain su

ucting 12% from a
m and then deducting

25% from the remainder, 2508
IS left, then what Is the Initial

sum?

1) 3500
3) 3970

2) 3450
4) 3800

woh Higa st @ 12% =t 3T 39
T @ 25% e, 2508 9 ' ST

2, al TR

qisT = 27

SSC CGL 16 AUG 2017 (Shift 2)






Raman spends 80% of his
Income. If his income Is
Increased by 25% and the
expenditure increase by 10%,
then what will be the
percentage increase In his
savings?

1) 17 2) 70

3) 77 4) 85

SSC CGL 16 AUG 2017 (Shift 3)



Pranita got 30 marks more In
Math than what she got In
Science. Her Math marks are
60% of the sum of her Math
and Science marks. What are
her Science marks?

1) 90 2) 150

3) 120 4) 60

SSC CGL 17 AUG 2017 (Shift 1)



A student has to secure 35%
marks to pass in a subject. If he
gets 82 and fails by 23 marks.
What Is the maximum marks of
the subject?

1) 300 2) 250

3) 350 4) 400

SSC CGL 17 AUG 2017 (Shift 2)



